
MV-1446

MV-1440

1

2

MV-9608

MV-9610

1 2

3

1 2

3

MV-1444

OTHER SPECIAL ACCESS VALVES, TEES & FITTINGS

MV-9610	 1/4” FFL (hex swivel nut with core depressor) (1) 	
x 1/4” FFL (hex nut with neoprene-o-ring) (2)

	 x 1/4” MFL (+ core & cap) (3).

MV-9608	 1/4” FFL (hex swivel nut with core depressor) (1)
	 x 1/8” FPT (hex nut, no core depressor) (2)
	 x 1/4” MFL (+ core & cap) (3).

MV-1440	 1/4” FFL double with hex swivel nut and depressor (1)
	 x 1/8” FPT (hex shape) (2).

MV-1446	 1/4” FFL (hex swivel nut)
	 x 1/4” FFL (hex swivel nut).

MV-1444	 1/4” MFL (+ core)
	 x 1/4” MPT
	 TWO hex mounting pads for wrench and back 

wrench.

http://www.ite-tools.com/en/product/379610
http://www.ite-tools.com/en/product/379608
http://www.ite-tools.com/en/product/371440
http://www.ite-tools.com/en/product/371446
http://www.ite-tools.com/en/product/371444

